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Instructions for the candidales!
1. wmrll s v ae ek o d) ooe 7
Candidales arg required lo give thelr anawata in thelt owi wortld aa lar a8 practivable
2 qfh ale @) w R gu syl (AR avi &1
Elgurea in tha right hand mamin indicale ol marky,
3 g g ux o} caagde wan) B I 15 a2 or SRR I 9 A
15 Minutes of oxira thme has baen allotiod for the cadidates lo mad the tpealionss aalehily,
4 ug ny1-uy q) el N & w@uy - 97 V7 @NF - |
This quostion papor ia divided into two seclions - Beclion- A axi Seolton - f1.
5wy -4 40 avgfre wrr & it et siftal 81 g B I o 1R &), gent v
gusar ) 1) OMR - wire wxw A ) u) vl gt i) o),/ War v Y
Al ot e @ EgE /et yanl/ &8,/ ik ot wav YRawr WAV Wy

spr & ar=rer TN QRO ST BT
in Section - A, thera ara 40 objeclive typo quostions which ara compilory, anth oArrying 1 mark. Darken
tho circlo with blua/black ball pen agains! the correc! option o OMR Answar Sheal provitied 1o you.

Do notl use Whitenor/Liquid/Blade/Nall elc. on OMR Sheol; otherwise the reault wili be invalid,
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"I 6 U @810 0u13) & v 1% 2 wwa) wy waw @
WYY B o R '
VYT ST S T Qs 1o Qu18) & K W R 2 wv) o7 g J1

W 2 575 o ¥ -
X RA T (Q.21 to Q.25) & Ared ¥ Y 3 v &1 Foow &

WTT X997 ¥ &7 4 vy Q2810 @.31) & Rt @ ¥ 2 woat a7 e @

i""?‘-; \‘m o ST &
VS 8 f ety W7 (Q.6,0.7,0.14,Q.15, 0.19, 0.20, 0.26 and Q.27) 37

;;-:}:‘? ..1 o g a7
S (T B R0 4 9 Aok &Y ST, ST R, sk 77 et @ o-va

T I TT7 I S

p . .
n Section - B, there are 23 short answer type questions of 5 subjects under Social Sclence (each
camyng 2 marks) as below:

History has 5 questions (Q.1to Q.5). out of which any 3 questions are to be answered.

Political Science has 6 questions (Q.8 to Q.13), out of which any 2 questions are to be answered.
Economics has 3 questions (Q.16 to Q.18), out of which any 2 questions are to be answered.
Geography has 5 questions {(Q.21 to 0..:?5}. out of which any 3 questions are to be answered.
Disaster Management has 4 questions (Q.28 1o Q.31), out of which any 2 questions are to be answered.
Apart from this, there are 8 Long Answer Type questions (Q.6, Q.7, Q.14, Q.15, Q.19, Q.20, Q.26 and
Q.27). Each carrying 4 marks. Out of eight questions answer 4 éefeding one each from History, Political
Science, Economics and Geography.
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Use of z;ny electronic appliances is strictly prohibited.
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Wy —3]/ SECTION - A

R w1 /Objective Type Questions
e Mwey Ry 10 & frm ¥ v wd &1 I

(40X 1=40)

YT ST 1 W 40 TE B qelw wvd a awel
Zrr g 1y ) Awew B oMR - de W RFET wR
ane is correet. You have to mark, your selected

Question No. ! to 40 have four options, oat of which only
(S0 x1=40)

option, on the OMR - Sheet.

History, Geagraphy, Political Science, Economics and Disaster Management.

Lo RN @l RIS B ar?

A\ AR @) T
(©) R gy () A

Who was the founder of “Young Europe™

(\) Mazzini (B) Garibaldi

woo Apnisqasq-mmm//:dny

(C) Victor Emmanucl (D) Mussolini
2. R w A 6w S or?

(A)  gail B) gl

€ gl (D) W

Who was the *Sick man of Europe™

(A) Turkey (B) Italy

() England (D) France
3. ord W @ S Bl gen Al

(A) B)  Fwis

(8 i (D) qrers

Where was Karl Marx born?

(A) Germany (B) England

(C)  France (D)  Poland
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T TR A s A o R T @
W ess B) 1900
:nC:\.hi ch 1:'1:( & . ‘ (Pl 1916
) id Gandhi ji establish the Sabarmati Ashram?
) 893 (B) 1900
© s @ 1916
S T WS A R R @
() I e B) TR
() fQdere (D) ST S
Who founded the Brahmo Samaj?
(A) Raja Ram Mohan Roy (B) Dayanand Saraswati
(o) Vivekananda (D) Ramakrishna Paramhansa

6. I g 1 ISR fFa g ar
A W ®) o T
(C) smsd p) SAF
Who invented safety lamp?

(A) Crompton (B)  James Hargreaves
(C) Humphry Davy (D) John K

7. siisra e wred @ e e ¢ g2
(A 1917 (B) 1919
(C) 1921 '(D) 1923' ,

In which year the International Labour Organizatlc(); ;a.'as es::;bll:hcd.
(A) . 1917 (D) 1923
(©) 1921 N e ?

8. mﬁ:ﬁaﬂ?mm B e T @ R
(A). Wﬁihm Dy T B R
€ F S |
The purpose (0 bull Golg}m i rm (B) To keep the Arms and ammunitions
(A) To keep ;hc-soldlefs @)  Toworship
(C) To keep grains .
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. s w1 IRER P G i gar?

(A) WA ) Fh
€ e m .
In which country the invention of paper took place?
(A)  China (B)  Germany
(&) Jupan (D) Rome
0. Rzgwm R & werm R s fsa? :
(A)  pw T B)  hp fae
(C) Ao && (D) wfearrR
Who started the publication of the *Hindustan Review'?
(A) Ramakrishnia Varma (B) Sri Krishna Singh
(C) Mazharul Haque (D) Sachidanand Sinha
1. T Rred) sugm @ - : g
(A)  Fua @ fag (B) @M & fag 2:
(€) s e (p) oW s fon é
Black soil is suitable for - 9-
(A) Cotton ' (B) Litchi g—
(C)  Wheat (D)  Millet g
12. waiftrs gut & & - P
A) B) R A =
(C) - of=ad (D) wERERE A
Highest rainfall occurs in - '
(A) Pumia (B) Cherrapunji
(C) Kochi (D) Mawsynram
13, et aeman o & ~
(A) dfaR (B) W H
() i 3R e 2 4 (D) of S AR A3
Brass is made of -
(A) Copper (B) Zinc
(C)  Copperand Zinc (@)  Copper, Zinc and Tin
[211] A Page 50f 16
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FH A iy
o m?:;'% Wit 78 2
. ®
:::l:lch of th ¥
©S€ 1s not the Prim ay?

(A) Natura) gas o enerey (B)

(©) Electricity (D)
IS5, R pR g

(A) oy & fore (B)

© s a3 g (D)

Nepanagar s famous for - |

(A) Sugar (B)

(©) News prin Paper (D)
16. <3 frg UiReH ajgr @y S 87

A)  wefEge (B)

©€©). fefEp D)

Pulse is the source of which nutrition?

(A) Carbohydrate (B)

(©) . ViaminD (D)
17. ﬁqﬁé{%ﬁﬁ%ﬁhmmqﬁwmmé?

A ¥ = ®)

© o - D

Which industry in not based on agriculture?

(A)  Coton cloth (B)

(C) Sugar (D)
18. T ¥ ¥ W wed T T et 22

(A) I e — _2 (B)

(C) ?IGFTI"f T — 5 (D)

Which among these is the longest National Highway?

(A) Highway no. 2 . ®)

(C)  Highwayno.5 )

[211]A
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geiferad
el

Petroleum
Coal '

drie & forg
g suel & fag

Cement

Cotton textiles

e
m.

Protein
Fat
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21.

22.
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AR F GO T T0TE ¢ -

A) T 8)

(€) FEEm (D)  ®ieen

The biggest port of India is - '
(A) Mumbai (B)  Chennaj

(C) Kolkata (D) Kandla
<R fRa f&w frar 4 Rea 82

A) IR (B) TR

© T D T
Mandar Hill is situated in which district?

(A) Munger (B) Bhagalpur
(€) Banka (D) Buxar

16 & ANea ¥ qRken v B FEA fFa 87

(A) 61 (B) 63

(C) 65 (D) 67

How many women members are in the 16" Lok Sabha?

(A) 61 (B) 63

(C) 65 (D) 67

YRGS I B TS &4 g A7 http://www.bsebstudy.com
(A) 1 TR 2000 (B) 9 TTaWR 2000
(C) 15 sI9¥} 2000 (D) 15 FqHY 2001
When was Jharkhand state formed - ‘ ;

(A) 1 November 2000 (B) 9 November 2000

(C) 15 November 2000 (D) . 15 November 200]

1977 A S @ g A 5 7w B e aga e

23.
(A) WA T I (B)  war wrél
(€ ARdE U i O R IR 9
Which party got a clear majority in the 1977 Lok Sabha e_Iection?
(A) Bhartiya Janta Party (B) Janta Party
(C) Bhartiya Rashtriya Congress (D) Bhartiya Communist Party
. [21 1] A ‘ Page 7 of .16
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2 R e i o e g

(A) 1885 .- (B) 1890
©) 1895 (D) 1900
When was the Indian Nationa} Congress established? -

(A) 1885 (B) 1%
© 1895 (D) 1900

25. Wil A w1 T g of P

(A) 2012 (B) 2013
(C© 2014 D) 2015
In which year the election of the 16® Lok Sabha was held?

(A) 2012 ' (B) 2013
© 2014 D 2015

26. M FAA B WAF DA B 27

(A) um : (B) WU
€ = M EE=R
Who is the head of the village kutchery?

-(A) Panch {(B)  Sarpanch
©) Pramukh (D)  Justice friend

. 27, ARd o Wil @1 g R R

(A) T U (B) TG

© TRisEd ®) =

What is the election symbol of the Bhartiya Janta pary?
(B) Lotus flower

woo Apnisqasq-mmm//:dny

(A) Hand paw
- (C)  Marigold (D)  Whel
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Wiy PPENE I eiig oy i i it e L6 Sie0E B g it gt Beeet B
(A) iy i AlA Al
i N 18 iy i apin
AN A D 0 oo, Qo e gt el by o e 0 ittt 1 thie !
(A) Atlaliiflu i st s S iakidhight iy
() Al | el iy v by s
Wy Bkl ey Wit o biisy apan 1) sgnil o) i/
(A) e i A
Wy e iy ey
L I T B L R e A
A) Wilin 1] Hopathiin
(') Maltmashim 17— T

Mo st GO ol tier [ oneg Al gt Siof) B depns it A i
e
(A) 100 181 h 18y (") 1yt (8ol 1o
() 100 1A b fEy T A LL K ALY
C o Undder NRRECA, whint is the proviston of senimmm mimibey of idiys ol enppryimient for gl latnness

o year!
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(A) Vor HH) duys () For 125 days
(C) Vor 150 doys () Vo 20K) days

M, e 0 ot sieden ml nas md [ a4
(A) 16 "d 1050 () 16 (et 199
() 16 SIGAL 1961 M) e Qg bt
Whert the Plaming Commission was estublished in India?
(A) |5 March 1951) (1) 15 September 1950
(C) 15 October 1951 (m None of thene
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32, mﬂmwwg?

33.

35.

A)" 14 B) 19

(9] 20 (D) 27

How many Nationalized banks are there in India?

(CYR¥ B 19

(©) 20 ) 27

TS TRER ¥ G qjremdeh spbed € -

@A) W P I B) A g g3W
© A gE D) A TS I
Bangladeshi economist honoured with Nobel Prize is- :

(A) Prof. Igbal Yunus _ | (B) Md. Igbal Yunus
(€)  Prof. Md. Yunus | (D) M. Shafik Yunus
4§t S W U ® -

(A) LG B) A

(C) I D). ¥ { &l

What are the key components of human capital?

(A) Knowledge (B) Skill

(C) Experience (D) All of these

ARA - ERHR A G B AR AR T3 R &=

A) 3004 (B) 2005
© 2006 @) 0
When the governtent of India passed the ‘Right to Information Act’?
) 2 004 B) 2005
© 2006 @) 2007

T Page 10 of 16
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@vg —a, SECTION-B

ﬂ-\'-ﬂ?tﬁﬁna T¥d /Non - Oblective Type Questions

oY STy _wyd/ Short Answer Type Questions

gfgr /History.

BT ey o ?)swammg,m#ﬁﬁ3w$w

iR &
. v f 7. ov 2
Question No, 1 to 5 is sho, . Auswer any 3 questions. Each question carries
. 0 218 short answer type. (3x2=6)

marks,

2w @ o 2 &
(ax2=5)

b 3GEe wify 9 amy qar e 87 N

What do you meun by October Revolution?
2. R 3Esr s @ g qRom gon?

What was the result of the Civi] Disobedience Mavement?
3w g Og & 54 @ aRoif @1 oo R

Describe any two causes of the First World War.

)

)/ fawg agR oy wge 27 2

What is world market?
5. avgfafy Far 8?7 @ @ Saafiar 87 2)
What is manuscript? What is its utility? |

&ref Iy ¥¥1 / Long Answer Type Questions

T w6 Ji 7 & gl me #1 § 9 1 v @1 e @ (4x1=4)
Questions No. 6 and 7 are Long Answer Type questions. Answer any one of the
Jollowing. . (dx1=4)

6. Afm @ e 74 STaRnl W wET I | “@
Throw light on the life and achievements of Lenin,

5 i ¥ A R @ frd | | "

Write the characteristics of the Indian press.

2

Page 12 of 16
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XY fasr / Political Science

T 91 8 7 13 Wmmg,w#wzwawﬁ_miﬁzﬁ
ReiRa & - =4

Question

\’ . 1 . - -
No. 8ta 13 is short answer npe. Answer any 2 queshons. Each question carmes 2

marks, (2x2=4)
L SRS T @ seia w @ R s e w9
What will you do to promote communal harmony?
?:.'-ﬁrmanﬁm:%gmmm%? -
What are the main objectives of Chipko Movement?
%mﬁua\maﬁﬁ?ﬂmmﬁmmaﬁl
Dexcribe four problems of Indian Democracy.
1 _1/ Pty T R oed
What is secular state?
12. |wadl ﬁ’tﬁimn 8?
What is concurrent list?
13, TR Tet B wEmd T B < e

Suggest two measures to make political parties more effective.

ad 59 ¥/ Long Answer Type Questions

ma‘aaruaf??rsaﬂﬁaﬁﬂam{fﬁ##ﬁﬁwwaﬁn’; (4x1=4)
Answer Type questions. Answer any oné of the
(Ix1=4)

Questions No. 14 and 15 are Long.

Jollowing.
4, wrriear @ A TR Fon 1 fad|

Wirite any four causcs of Communalism.

ﬁrwﬁﬁmaﬂi%mmm|

Write main functions of Political Parties.

)

(4)

woo Apnisqasq mmm//:dny
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apfyres / Economice -

e S 18 3 10 3. i e 1 g @ ot 2 7O
¥ Fratfe &) @2y
Question Ne. 16 to 18 is shorg answer type. Answer any 2 questions. Each question carries
2 marks, (2x2=4)
R R —— @
& What i the importance of economic infrastructure?
SR 3 9 T @ @ -
g © Wha do you mean by cooperative?
S 18 STl 3 A 3 o - 3 A o B @
é " What are the different ways by which consumers get exploited?
3 :
S <t Sod™ w¥ /Long Answer Type Questions
& 7eT ST 19 IR 20 e Tody wer &) g W Rt v BT S T/ (4x1=4)
o
5 Questions No. 1 9 and 20 are Long :inswer Type questions. Answer any one of the
Jollowing. http://www bsebstudy.com (4x1=4)

19 fER @ aftfe ReITT @ TN TR & | ' @)

L

What are the reasons for economic backwardness of Bihar? .

20, Avfie ¥ RER W O W @ ww | ©
> Explain the effects of globalization on Biar ‘

woo Apnisqasq mmm//:dny
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¥t / Geography
W W& 21 & 25 77 awdy w7 &) g0 @ e 3 vl @ O 3 ande @ v 2
o Puifa &1 (ox2=t)

Question No. 21 to 25 is short answer type. Answer any 3 questions. Each question carries
(Ix2=6)

2)

2 marks.

Why is the preservation of natural resources necessary? ‘
}./ﬂmﬂ; 3 TAR § TERTS 7 ufeg 87 (2)
Why is Maharashtra famous for the production of cotton?

(2)

/wﬂﬂmﬁmmﬁﬁaﬁmﬁﬁ?

Why is petroleum more important than coal?

24, el @ wgww $Q P ¥ 2)

How does pollution spread from industries?

25. ARE @ U AW &1 T WET &7 2)

What is the importance of water ways for India?
& adm we / Long Answer Type Questions

mmmmzzlﬂﬁmm?fsﬁ#wwwmﬁ (ax1=4)
e of the

(dxI=4)
(4)

Questions No. 26 and 27 are Long Answer Type questions. Answer any oR
Jollowing. l
2. orfaEn W @ — I @ T F aE HR
Describe the effects of mining activity on the economy.
27, wRdYa ¥d wRae i Rl @ i W
f/ Describe the characteristics of Indian Rail Transport.

(4)

[21 1] A . Page 15 of 16
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AIET ueuH / Disaster Management

o T WS 28 @ 31 ayanmmg;gﬁﬂwzﬂ”’fﬁwﬂwﬁmz
. WE [ & =)
Question No. 28 to 31 is short answer type. Answer any 2 qutestions. Each question carmgs
2 marks,‘ | (3:2=9)
28, YT R/ 30 T WWIRA &2 @
What do you mean by Disaster?
29, TG [ T AN B A g AR ®
Discuss the damages caused by flood. ‘
2

30, @ ¥ T B Rdl A Iudl B @ W
/

Mention any two measures for safety from, earthquake.

Wﬁm%wﬁfiﬂac—eﬂuﬁl'

Mention the measure for safcty from Tsunami.

(2)

http://www.bsebstudy.com
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